

S/N DESCRIPTION OF WORK QTTY UNIT RATE AMOUNT 1 Allow a provisional sum for the running cost of the project 9,600,000 9,600,000 1 Allow a provisional sum for the running cost of the project 1 1 1 9,600,000 1 Allow a provisional sum for the running cost of the project 1 1 1 9,600,000 1 Image: State of the project Image: State of the project Image: State of the project 9,600,000 1 Image: State of the project Image: State of the project Image: State of the project 9,600,000 Image: State of the project 9,600,000 Image: State of the project 9,600,000 Image: State of the project Image: State of the project Image: State of the project Image: State of the project Image: State of the project Image: State of the project Image: State of the project Im		BILL NO.1: PRELIMINARY				
1 Allow a provisional sum for the running cost of the project 9,600,000 1 9,600,000 9,600,000 2 2 2 2 2 2 3 2 2 4 2 2 5 2 2 4 2 2 5 3 3 4 3 3 5 3 3 6 4 4 6 5 4 7 5 5 7 5 5 8 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5 9 5 5	S/N		QTTY	UNIT	RATE	AMOUNT (N)
Carried to summary 9.600,000						9,600,000.00
Carried to summary 9.600,000		cost of the project				
Carried to summary 9.600,000						
Carried to summary 9.600,000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9,600.000						
Carried to summary 9,600,000						
Carried to summary 9.600.000						
Carried to summary 9,600,000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9,600,000						
Carried to summary 9.600.000						
Carried to summary 9.600.000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
Carried to summary 9,600,000						
<u>Carried to summary</u> <u>2,000,000</u>		Carried to summary		-		9 600 000 00
P/1			P/1	-		2,000,000.00
BILL NO.2: SITE CLEARANCE		BILL NO.2: SITE CLEARANCE	1/1			



			1	1	1
S/N	DESCRIPTION OF WORK	QTTY	UNIT	RATE	AMOUNT (N)
2.1	Clear site on either side of centre line of				
	the road up to the limit of construction				
	width of all bushes, trees including the				
	removal and disposal or stocking of				
	topsoil as directed by project manager'	199,500	m ²	170	33,915,000.00
2.2	Excavate and dispose suitable material	10,980	m ²	1,600	17,568,000.00
2.3	Excavate from approved borrow pits	, í		,	
	haul excavated material any distance,				
	deposit, spread 150mm layer and				
	compact to 100% B.S. compaction as				
	filling for embankments and margins,				
	shape formation and trim slopes to				
	required cross section. All measured as				
	completed work in final sites (haulage	22,500	m ³	2,450	55,125,000.00
	inclusive)	22,300		2,130	55,125,000.00
	inclusive)				
	Carried to summary		1		106,608,000.00
		P/2	1		
L		1/4	1	1	



			1		I
	BILL NO. 3: CULVERT AND				
	DRAINS				
S/N	DESCRIPTION OF WORK	QTTY	UNIT	RATE	AMOUNT (N)
3.1	Excavate for all culvert and drains to any				
	depth including backfilling and disposal				
	of surplus materials as directed by the				
	project manager's representatives				
	(including dewatering)	24,200	m ³	1,400	33,880,000.00
3.2	Provide and install 900mm double ring				
	culverts as specified by and directed by				
	the project manger's representatives,				
	rates includes surrounding, wing wall,				
	head walls and form work	88	m ³	65,000	5,720,000.00
3.3	Provide and install concrete Drains Type				
	1 but uncovered (600mm x 600mm) as				
	specified by the project manager's				
	representatives, rates includes				
	reinforcements and form work	5,200	m ²	35,000	182,000,000.00
3.4	Provide and place 150mm thick stone				
	pitching set in mortar 1:4 cement and				
	sand mortar	1,320	m^2	4,000	5,280,000.00
3.5	Provide concrete type 4 kerbs (450mm x				
	150mm) as specified and directed by		2		
	project manager's representatives	2,670	m ²	4,800	12,816,000.00
3.6	Provide, mix and place concrete grade				
	25 in vehicular crossing slab 200mm		2		
	form work and reinforcement inclusive	54	m ³	20,700	1,117,800.00



	Carried to summary				<u>240,813,800.00</u>
		P/3			
	BILL NO.4: PAVEMENT AND SURFACING				
S/N	DESCRIPTION OF WORK	QTTY	UNIT	RATE	AMOUNT (N)
4.1	Shape and compact formation in cut as specified in 100% B.S. Compaction	97,000	m ²	133	12,901,000.00
4.2	Provide, spread, shape and compact to 100% W.A.S compaction selected breaking materials as fill materials as sub base not exceeding a compacted layer of 200mm thickness (Haulage inclusive)	15,400	m ²	8,000	123,200,000.00
4.3	Provide, spread, shape and compact to 100% W.A.S. compaction selected crushed materials as fill materials as base (wet process) not exceeding a compacted layer of 200mm thickness (Haulage inclusive)	15,400	m ²	16,200	249,480,000.00
4.4	Provide and lay prime coat using MCD or MC1 cutback bitumen at including blinding with sand or quarry fine on		3		77 200 000 00
4.5	carriageway	96,500	m ³	800	77,200,000.00
4.5	Provide, lay and compact asphaltic concrete binder course to a compacted thickness of 60mm on carriageway	96,500	m ³	6,500	627,250,000.00
4.6	Provide, lay and compact asphaltic concrete wearing course to a compacted thickness of 40mm on carriageway	96,500	m ³	4,700	260,550,000.00
4.7	Provide pavement marking as directed by ER		P.S.		4,000,000.00
4.8	Provide mounted regulatory road signs as shown on drawings and directed by project manager's representative		P.S.		5,000,000.00



Carried to summary		1,359,581,000.00
	P/4	
SUMMARY PAGE BILL NO.1: GENERAL		9,600,000.00
BILL NO.2: SITE CLEARANCE		106,608,000.00
BILL NO. 3: CULVERT AND DRAINS		240,813,800.00
BILL NO. 4: PAVEMENT AND SURFACING		1,359,581,000.00
SUB-TOTAL		1,716,602,800.00
ADD CONTINGENCY	2.5%	42,915,070.00
SUB-TOTAL		1,759,517,870.0
ADD V.A.T.	7.5%	131,963,840.30
SUB-TOTAL		1,891,481,710.3
CONSULTANCY FEE		30,000,000.00
GRAND TOTAL		<u>1,921,481,710.3</u>

